EARAROBREBRT —5 XN—ZXBISH—F 20235128288 (A) 120154136

Bl 25— 4 SR (s | mEmm - | g o0
[AE%] 1 &:900,000 ™ ~ 23#&:315,000H  337%:180,000H . 43#&:135,000 H 5 3&:90,000 M
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
S 2 | Luis3ts 1:28.4 3-5-6-2 | 40.7| -— 4 409 |HPE= (&H)
100 4| YVIY—=Ta1—Iv * 54.0 - @) | ZTAN. TR, ZFATI (
RiV—=FHISOY B:ZY /DY BaALO%S
. s S p SRS : -4-3- - TiE=sE (&)
N PICEEEI 'v 2| 28 1.(22%.8 5-4-3-4 | 41.8 1 (4_63(; 20 6
RiIAYVTSwvya B:I4I7 )T« e ]
M ~ t 2 | SEEA 1:28.8 4-3-2-3 | 41.9| - 3 465 | BIE— (&)
k] 2 MR * 55.0 F9%) @) | B HEIT—L
RikoPO—UR 8:HYZ/NA A=V HET7—L
~ N [FEy 3 -1-1- - BE &)
alglg|FvuTr B2 e 1.(259).8 1-1-1-1 | 43.4 2 ?+626) il
RYRITUR BiAVATLAT A K
F 75 s 2 | AH{dt 1:30.1 6-6-5-5 | 42.4| -— 5 447 | BIIEKR GFH0)
50111 | bT4—ATA 54.0 a1/2 7 FASER
R:OVvy—NO—X B:FITRRT4—I\— [=rne]
il : -7-7- - RERECHE (FH)
6 6| B1no 42 = 1.(341).0 7-7-7-7 | 43.3 8 (4+35?; mm%& 5
R:Z2MAVITUI—Y BIRSZT4—Y BB
R— FaFRal : -8-8- - Biex# (&4
7B 3| 77— "2 R IR = R
R:AR—=KT 7)Y B:AHh/ToAv— HTNLR=Z—T5T
u N o BAER 133, -0-4- . - Hofe— (&)
8 5|5 >(’(‘JEI'jJU“J|\ 4t 2 54.0L 1?93)2 2-2-4-8 45.7 6 (4_318) SETHIE
RIRXVIATFqwIDAUT7— B:VUYRU=XY HH BE
@ 11— —BBIEfI
13—7F— 8,5,4,2,7,1,6,3
20—F— 8,5,2,7,4,1,6,3
30—7— 8,2,7,5,1,4,6,3
40—7+— 8,4,2,7,1,3,6,5
o ILRE
B B 4 3,510 | [ 91 R 4-7 370M4 5= 4-7 2,260M 3EE 2-4-7 2,500
7B B 4 280 2-4 1,370 ==} 4-7 6,810M 3EH 4-7-2 36,8004
7 130 2-7 220
2 320

ABIC OV TRUTEREERRODDZE. THRIIZEL.



